

λ -WHITNEY NUMBERS AND λ -DOWLING POLYNOMIALS

TAEKYUN KIM¹, DAE SAN KIM², AND HYE KYUNG KIM^{3,*}

ABSTRACT. Recently, degenerate Whitney numbers and degenerate Dowling polynomials are introduced by Kim-Kim. In this paper, we consider λ -Whitney numbers and λ -Dowling polynomials whose limits as λ tends 1 are respectively the Whitney numbers and the Dowling polynomials. They are different from the degenerate Whitney numbers and the degenerate Dowling polynomials whose limits as λ tends to 0 are the Whitney numbers and the Dowling polynomials. The aim of this paper is to derive, for these numbers and polynomials, some properties, generating functions, recurrence relations, and explicit expressions in terms of λ -analogues of Stirling numbers.

2020 MATHEMATICS SUBJECT CLASSIFICATION. 11B83; 11B73; 05A19.

KEYWORDS AND PHRASES. $d\lambda$ -Whitney numbers; λ analogues of Stirling numbers; λ -Dowling polynomials.

1. INTRODUCTION

Dowling constructed a finite geometric lattice for any finite set with n elements and any finite multiplicative group G of order m , called Dowling lattice of rank n over a finite group of order m and denoted by $Q_n(G)$. The Whitney numbers of the first and second kind are defined for any finite geometric lattice. These numbers for Dowling lattice $Q_n(G)$ are the Whitney numbers of the first kind $V_m(n, k)$ and those of the second kind $W_m(n, k)$, which satisfy Stirling number-like relations (see [4]). The degenerate Whitney numbers of the first kind and those of the second kind are introduced by degenerating such relations (see [7]). Moreover, the degenerate r -Whitney numbers of both kinds are considered, as further generalizations of the degenerate Whitney numbers of both kinds (see [7]).

As is well-known, the normal ordering of an integral power of the number operator in terms of boson operators is expressed with the help of the Stirling numbers of the second kind. It is shown in [8] that the normal ordering of a certain quantity involving the number operator is expressed in terms of the degenerate r -Whitney numbers of the second kind. In addition, the degenerate r -Dowling polynomials are considered as a natural extension of the degenerate r -Whitney numbers of the second kind (see [8]). In [10], it is shown that the degenerate Dowling (see [7]) and the degenerate r -Dowling polynomials are connected with Poisson degenerate central moments for a Poisson random variable with a certain parameter and with Charlier polynomials.

This work was supported by the Basic Science Research Program, the National Research Foundation of Korea, (NRF-2021R1F1A1050151).

In this paper, we use λ -analogues of Stirling numbers of the first kind $\mathbf{S}_{1,\lambda}(n, k)$ (see [9]) and λ -analogues of Stirling numbers of the second kind $\mathbf{S}_{2,\lambda}(n, k)$ (see [5]), whose limits as λ tends to 1 are respectively the Stirling numbers of the first kind and the Stirling numbers of the second kind. Notice here that they are different from the degenerate Stirling numbers of the first kind $S_{1,\lambda}(n, k)$ and the degenerate Stirling numbers of the second $S_{2,\lambda}(n, k)$, whose limits as λ tends 0 are respectively Stirling numbers of the first kind and Stirling numbers of the second kind.

The aim of this paper is to derive, for the λ -Whitney numbers and the λ -Dowling polynomials, some properties, generating functions, recurrence relations, and explicit expressions in terms of the λ -analogues of Stirling numbers. The novelty of this paper is that several new polynomials and numbers are introduced as analogues of existing polynomials and numbers. They are the λ -Whitney numbers of both kinds, the λ -Dowling polynomials and numbers, the λ -Bell polynomials and numbers, and the λ -Tanny-Dowling polynomials.

In more detail, the outline of this paper is as follows. In Section 1, we recall the Whitney numbers of the first kind, the Whitney numbers of the second kind and the Dowling polynomials. We remind the reader of the degenerate exponentials, the degenerate Whitney numbers of the first kind and the degenerate Whitney numbers of the second. We also recall the λ -analogues of Stirling numbers of the first kind $\mathbf{S}_{1,\lambda}(n, k)$ and the λ -analogues of Stirling numbers of the second kind $\mathbf{S}_{2,\lambda}(n, k)$. Section 2 is the main result of this paper. We define the λ -Whitney numbers of the first kind $\mathbf{V}_{m,\lambda}(n, k)$ and the λ -Whitney numbers of the second kind $\mathbf{W}_{m,\lambda}(n, k)$. In Theorem 1, we show that $\mathbf{W}_{1,\lambda}(n, k) = \mathbf{S}_{2,\lambda}(n + 1, k + 1)$. We introduce the λ -Dowling polynomials $\mathbf{D}_{m,\lambda}(n, x)$ and derive the generating function of them in Theorem 2. Then we introduce λ -Bell polynomials $\Phi_{n,\lambda}(x)$. In Theorem 3, we show $\mathbf{D}_{1,\lambda}(n, 1) = \Phi_{n+1,\lambda}(1)$. We deduce the generating function of $\mathbf{W}_{m,\lambda}(n, k)$ in Theorem 4 and that of the $\mathbf{V}_{m,\lambda}(n, k)$ in Theorem 5. We derive a recurrence relation for $\mathbf{W}_{m,\lambda}(n, k)$ in Theorem 6 and that for $\mathbf{V}_{m,\lambda}(n, k)$ in Theorem 7. $\mathbf{V}_{m,\lambda}(n, k)$ and $\mathbf{W}_{m,\lambda}(n, k)$ are respectively expressed as a finite sum involving $\mathbf{S}_{1,\lambda}(n, k)$ in Theorem 8 and that involving $\mathbf{S}_{2,\lambda}(n, k)$ in Theorem 13. The λ -Tanny-Dowling polynomials are defined and the generating function of them are obtained in Theorem 9. In Theorem 10, $\mathbf{D}_{m,\lambda}(n, x)$ are expressed as an infinite sum in Theorem 10. In Theorem 11, we show $x\mathbf{D}_{1,\lambda}(n, x) = \Phi_{n+1,\lambda}(x)$. We find an expression for $\mathbf{W}_{m,\lambda}(n, k)$ in Theorem 12. We find an expression for $\mathbf{W}_{m,\lambda}(n, k)$ in terms of the difference operator in Theorem 14. In Theorem 15, we derive another recurrence relation for $\mathbf{W}_{m,\lambda}(n, k)$. Finally, we conclude our paper in Section 3. In the rest of this section, we recall the necessary facts that are needed throughout this paper.

For any positive integer m , the Whitney numbers of the first kind $V_m(n, k)$ and the Whitney numbers of the second kind $W_m(n, k)$ are respectively defined by

$$(1) \quad m^n \left(\frac{x-1}{m} \right)_n = \sum_{k=0}^n V_m(n, k) x^k,$$

and

$$(2) \quad x^n = \sum_{k=0}^n W_m(n, k) m^k \left(\frac{x-1}{m} \right)_k, \quad (\text{see [3, 6-8, 10, 16]}).$$

where $(x)_n$ is given by $(x)_0 = 1, (x)_n = x(x-1) \cdots (x-n+1), (n \geq 1)$.

For $n \geq 0$, Dowling polynomials are defined by

$$(3) \quad D_m(n, x) = \sum_{k=0}^n W_m(n, k) x^k, \quad (\text{see [3, 6-8, 10, 16]}).$$

When $x = 1, D_m(n) = D_m(n, 1)$ are called the Dowling numbers.

Equivalently, the relations (1) and (2) are given by

$$(4) \quad m^n (x)_n = \sum_{k=0}^n V_m(n, k) (mx+1)^k, \quad (n \geq 0),$$

$$\frac{1}{k!} \left(\frac{\log(1+mt)}{m} \right)^k (1+mt)^{-\frac{1}{m}} = \sum_{n=k}^{\infty} V_m(n, k) \frac{t^n}{n!}, \quad (k \geq 0),$$

$$(5) \quad (mx+1)^n = \sum_{k=0}^n W_m(n, k) m^k (x)_k, \quad (n \geq 0),$$

$$e^t \frac{1}{k!} \left(\frac{e^{mt}-1}{m} \right)^k = \sum_{n=k}^{\infty} W_m(n, k) \frac{t^n}{n!}, \quad (k \geq 0),$$

(see [3, 6, 8]).

For any nonzero $\lambda \in \mathbb{R}$, the degenerate exponentials are defined by

$$(6) \quad e_\lambda^x(t) = (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \frac{(x)_{n,\lambda}}{n!} t^n, \quad (\text{see [1, 2, 7, 8, 10-12, 17]}),$$

where

$$(x)_{0,\lambda} = 1, \quad \text{and} \quad (x)_{n,\lambda} = x(x-\lambda) \cdots (x-(n-1)\lambda), \quad (n \geq 1).$$

For $x = 1$, for brevity we write $e_\lambda(t) = e_\lambda^1(t)$.

In [7], the degenerate Whitney numbers of the first kind $V_{m,\lambda}(n, k)$ and the degenerate Whitney numbers of the second kind $W_{m,\lambda}(n, k)$ are respectively given by

$$(7) \quad m^n (x)_n = \sum_{k=0}^n V_{m,\lambda}(n, k) (mx+1)_{k,\lambda}, \quad (n \geq 0),$$

$$\frac{1}{k!} (\log_\lambda e_m(t))^k e_m^{-1}(t) = \sum_{n=k}^{\infty} V_{m,\lambda}(n, k) \frac{t^n}{n!}, \quad (k \geq 0),$$

and

$$(8) \quad \begin{aligned} (mx + 1)_{n,\lambda} &= \sum_{k=0}^n W_{m,\lambda}(n, k)m^k(x)_k, \quad (n \geq 0), \\ e_\lambda(t) \frac{1}{k!} \left(\frac{e_\lambda^m(t) - 1}{m} \right)^k &= \sum_{n=k}^\infty W_{m,\lambda}(n, k) \frac{t^n}{n!}, \quad (k \geq 0). \end{aligned}$$

Note that $\lim_{\lambda \rightarrow 0} W_{m,\lambda}(n, k) = W_m(n, k)$, $\lim_{\lambda \rightarrow 0} V_{m,\lambda}(n, k) = V_m(n, k)$. The λ -analogues of Stirling numbers of the first kind are defined by

$$(9) \quad \begin{aligned} (x)_{n,\lambda} &= \sum_{k=0}^n \mathbf{S}_{1,\lambda}(n, k)x^k, \quad (n \geq 0), \\ \frac{1}{k!} \frac{1}{\lambda^k} (\log(1 + \lambda t))^k &= \sum_{n=k}^\infty \mathbf{S}_{1,\lambda}(n, k) \frac{t^n}{n!}, \quad (k \geq 0), \quad (\text{see [9]}). \end{aligned}$$

Note that $\lim_{\lambda \rightarrow 1} \mathbf{S}_{1,\lambda}(n, k) = S_1(n, k)$, where $S_1(n, k)$ are the Stirling numbers of the first kind defined by

$$(x)_n = \sum_{k=0}^n S_1(n, k)x^k, \quad (\text{see [3, 15, 16]}).$$

As the inversion formula of (8), the λ -analogues of Stirling numbers of the second kind are defined by

$$(9) \quad \begin{aligned} x^n &= \sum_{k=0}^n \mathbf{S}_{2,\lambda}(n, k)(x)_{k,\lambda}, \quad (n \geq 0), \\ \frac{1}{k!} \frac{1}{\lambda^k} (e^{\lambda t} - 1)^k &= \sum_{n=k}^\infty \mathbf{S}_{2,\lambda}(n, k) \frac{t^n}{n!}, \quad (k \geq 0), \quad (\text{see [5]}). \end{aligned}$$

Note that $\lim_{\lambda \rightarrow 1} \mathbf{S}_{2,\lambda}(n, k) = S_2(n, k)$, where $S_2(n, k)$ are the Stirling numbers of the second kind defined by

$$x^n = \sum_{k=0}^n S_2(n, k)(x)_k, \quad (n \geq 0), \quad (\text{see [2,3,13-17]}).$$

2. λ -WHITNEY NUMBERS AND λ -DOWLING POLYNOMIALS

In view of (1) and (2), we consider the λ -Whitney numbers of the first kind $\mathbf{V}_{m,\lambda}(n, k)$ and the λ -Whitney numbers of the second kind $\mathbf{W}_{m,\lambda}(n, k)$ which are different from (7) and (8).

We define the λ -Whitney numbers of the first kind as

$$(10) \quad m^n(x)_{n,\lambda} = \sum_{k=0}^n \mathbf{V}_{m,\lambda}(n, k)(mx + \lambda)^k, \quad (n \geq 0).$$

As the inversion formula of (10), we define the λ -Whitney numbers of the second kind as

$$(11) \quad (mx + \lambda)^n = \sum_{k=0}^n \mathbf{W}_{m,\lambda}(n, k)m^k(x)_{k,\lambda}, \quad (n \geq 0).$$

From (10) and (11), we will show that

$$(12) \quad \frac{1}{m^k \lambda^k} \frac{1}{k!} (\log(1 + mt\lambda))^k (1 + mt\lambda)^{-\frac{1}{m}} = \sum_{n=k}^{\infty} \mathbf{V}_{m,\lambda}(n, k) \frac{t^n}{n!},$$

and

$$(13) \quad \frac{1}{\lambda^k k!} \left(\frac{e^{\lambda mt} - 1}{m} \right)^k e^{\lambda t} = \sum_{n=k}^{\infty} \mathbf{W}_{m,\lambda}(n, k) \frac{t^n}{n!}, \quad (n, k \geq 0).$$

Note that $\lim_{\lambda \rightarrow 1} \mathbf{W}_{m,\lambda}(n, k) = W_m(n, k)$, $\lim_{\lambda \rightarrow 1} \mathbf{V}_{m,\lambda}(n, k) = V_m(n, k)$.
From (9), we note that

$$(14) \quad \begin{aligned} \sum_{n=k}^{\infty} \mathbf{S}_{2,\lambda}(n+1, k+1) \frac{t^n}{n!} &= \frac{d}{dt} \left(\sum_{n=k}^{\infty} \mathbf{S}_{2,\lambda}(n+1, k+1) \frac{t^{n+1}}{(n+1)!} \right) \\ &= \frac{d}{dt} \left(\frac{1}{(k+1)!} \frac{1}{\lambda^{k+1}} (e^{\lambda t} - 1)^{k+1} \right) \\ &= \frac{1}{k!} \frac{1}{\lambda^k} (e^{\lambda t} - 1)^k e^{\lambda t} = \sum_{n=k}^{\infty} \mathbf{W}_{1,\lambda}(n, k) \frac{t^n}{n!}. \end{aligned}$$

Thus, by comparing the coefficients on both sides of (14), we obtain the following theorem.

Theorem 2.1. For $n, k \geq 0$, with $n \geq k$, we have

$$\mathbf{W}_{1,\lambda}(n, k) = \mathbf{S}_{2,\lambda}(n+1, k+1).$$

Now, we define the λ -Dowling polynomials by

$$(15) \quad \mathbf{D}_{m,\lambda}(n, x) = \sum_{k=0}^n \mathbf{W}_{m,\lambda}(n, k) x^k, \quad (n \geq 0).$$

For $x = 1$, $\mathbf{D}_{m,\lambda}(n) = \mathbf{D}_{m,\lambda}(n, 1)$ are called the λ -Dowling numbers.

From (15), we note that

$$(16) \quad \begin{aligned} \sum_{n=0}^{\infty} \mathbf{D}_{m,\lambda}(n, x) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \mathbf{W}_{m,\lambda}(n, k) x^k \right) \frac{t^n}{n!} = \sum_{k=0}^{\infty} x^k \sum_{n=k}^{\infty} \mathbf{W}_{m,\lambda}(n, k) \frac{t^n}{n!} \\ &= e^{\lambda t} \sum_{k=0}^{\infty} \frac{x^k}{k!} \left(\frac{e^{\lambda mt} - 1}{\lambda m} \right)^k = e^{\lambda t} e^{\frac{x}{\lambda m}} (e^{\lambda mt} - 1). \end{aligned}$$

Theorem 2.2. For $m \in \mathbb{N}$, we have

$$e^{\lambda t} e^{\frac{x}{\lambda m}} (e^{\lambda mt} - 1) = \sum_{n=0}^{\infty} \mathbf{D}_{m,\lambda}(n, x) \frac{t^n}{n!}.$$

Note that $\lim_{\lambda \rightarrow 1} \mathbf{D}_{m,\lambda}(n, x) = D_m(n, x)$, $(n \geq 0)$.

The λ -Bell polynomials are defined by

$$(17) \quad \Phi_{n,\lambda}(x) = \sum_{k=0}^n \mathbf{S}_{2,\lambda}(n, k) x^k, \quad (n \geq 0).$$

Thus, by (17), we get

$$(18) \quad e^{\frac{x}{\lambda}(e^{\lambda t}-1)} = \sum_{n=0}^{\infty} \Phi_{n,\lambda}(x) \frac{t^n}{n!}.$$

Note that $\lim_{\lambda \rightarrow 1} \Phi_{n,\lambda}(x) = \phi_n(x)$, ($n \geq 0$), where $\phi_n(x)$ are the ordinary Bell polynomials defined by

$$e^{x(e^t-1)} = \sum_{n=0}^{\infty} \phi_n(x) \frac{t^n}{n!}, \quad (\text{see [3, 5, 11, 15, 16]}).$$

For $x = 1$, $\Phi_{n,\lambda} = \Phi_{n,\lambda}(1)$ are called the λ -Bell numbers.

From (17) and (18), we note that

$$(19) \quad \begin{aligned} \sum_{n=0}^{\infty} \Phi_{n+1,\lambda}(x) \frac{t^n}{n!} &= \frac{d}{dt} e^{\frac{x}{\lambda}(e^{\lambda t}-1)} = \frac{d}{dt} \sum_{n=1}^{\infty} \left(\sum_{k=1}^n \mathbf{S}_{2,\lambda}(n, k) x^k \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=1}^{n+1} \mathbf{S}_{2,\lambda}(n+1, k) x^k \right) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \mathbf{S}_{2,\lambda}(n+1, k+1) x^{k+1} \right) \frac{t^n}{n!}. \end{aligned}$$

Thus, by comparing the coefficients on both sides of (19), we obtain the following equation.

$$(20) \quad \begin{aligned} \Phi_{n+1,\lambda}(x) &= x \sum_{k=0}^n \mathbf{S}_{2,\lambda}(n+1, k+1) x^k, \\ \Phi_{n+1,\lambda} &= \sum_{k=0}^n \mathbf{S}_{2,\lambda}(n+1, k+1), \quad (n \geq 0). \end{aligned}$$

Here, from (9), we note $\mathbf{S}_{2,\lambda}(n+1, 0) = 0$, for $n \geq 0$.

From Theorem 1 and (15), we have

$$(21) \quad \mathbf{D}_{1,\lambda}(n) = \sum_{k=0}^n \mathbf{W}_{1,\lambda}(n, k) = \sum_{k=0}^n \mathbf{S}_{2,\lambda}(n+1, k+1) = \Phi_{n+1,\lambda}.$$

Therefore, by (21), we obtain the following theorem.

Theorem 2.3. For $n \geq 0$, we have

$$\mathbf{D}_{1,\lambda}(n) = \Phi_{n+1,\lambda}.$$

Now, we show (13). From (11), we see that

$$(22) \quad \begin{aligned} e^{(mx+\lambda)t} &= \sum_{n=0}^{\infty} (mx + \lambda)^n \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \mathbf{W}_{m,\lambda}(n, k) m^k(x)_{k,\lambda} \right) \frac{t^n}{n!} \\ &= \sum_{k=0}^{\infty} \left(\sum_{n=k}^{\infty} \mathbf{W}_{m,\lambda}(n, k) \frac{t^n}{n!} \right) m^k(x)_{k,\lambda}. \end{aligned}$$

On the other hand, we also have

$$\begin{aligned}
 e^{(mx+\lambda)t} &= e^{\lambda t} (e^{\lambda mt} - 1 + 1)^{\frac{x}{\lambda}} \\
 &= e^{\lambda t} \sum_{k=0}^{\infty} \binom{x}{\lambda}_k \frac{1}{k!} (e^{\lambda mt} - 1)^k \\
 &= e^{\lambda t} \sum_{k=0}^{\infty} \frac{1}{\lambda^k} \frac{1}{k!} \left(\frac{e^{\lambda mt} - 1}{m} \right)^k m^k (x)_{k,\lambda}.
 \end{aligned}
 \tag{23}$$

From (22) and (23), we obtain the following theorem.

Theorem 2.4. *For $k \geq 0$, we have*

$$e^{\lambda t} \frac{1}{\lambda^k} \frac{1}{k!} \left(\frac{e^{\lambda mt} - 1}{m} \right)^k = \sum_{n=k}^{\infty} \mathbf{W}_{m,\lambda}(n, k) \frac{t^n}{n!}.$$

Next, we show (12). From (10), we see that

$$\begin{aligned}
 (1 + m\lambda t)^{\frac{x}{\lambda}} &= \sum_{n=0}^{\infty} m^n (x)_{n,\lambda} \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \mathbf{V}_{m,\lambda}(n, k) (mx + \lambda)^k \right) \frac{t^n}{n!} \\
 &= \sum_{k=0}^{\infty} \left(\sum_{n=k}^{\infty} \mathbf{V}_{m,\lambda}(n, k) \frac{t^n}{n!} \right) (mx + \lambda)^k.
 \end{aligned}
 \tag{24}$$

On the other hand, we also have

$$\begin{aligned}
 (1 + m\lambda t)^{\frac{x}{\lambda}} &= (1 + m\lambda t)^{\frac{x}{\lambda} + \frac{1}{m}} (1 + m\lambda t)^{-\frac{1}{m}} \\
 &= (1 + m\lambda t)^{\frac{1}{\lambda} \left(\frac{mx+\lambda}{m} \right)} (1 + m\lambda t)^{-\frac{1}{m}} \\
 &= e^{\frac{1}{\lambda} \left(\frac{mx+\lambda}{m} \right) \log(1+m\lambda t)} (1 + m\lambda t)^{-\frac{1}{m}} \\
 &= \sum_{k=0}^{\infty} \left(\frac{1}{\lambda^k m^k} \frac{1}{k!} (\log(1 + m\lambda t))^k (1 + m\lambda t)^{-\frac{1}{m}} \right) (mx + \lambda)^k.
 \end{aligned}
 \tag{25}$$

From (24) and (25), we get the next theorem.

Theorem 2.5. *For $k \geq 0$, we have*

$$\frac{1}{\lambda^k m^k} \frac{1}{k!} (\log(1 + m\lambda t))^k (1 + m\lambda t)^{-\frac{1}{m}} = \sum_{n=k}^{\infty} \mathbf{V}_{m,\lambda}(n, k) \frac{t^n}{n!}.$$

By (11), we get

$$\begin{aligned}
 (26) \quad & \sum_{k=0}^n \mathbf{W}_{m,\lambda}(n, k) m^k(x)_{k,\lambda} = (mx + \lambda)^n = (mx + \lambda)^{n-1}(mx + \lambda) \\
 &= \sum_{k=0}^{n-1} \mathbf{W}_{m,\lambda}(n-1, k) m^k(x)_{k,\lambda} (mx + \lambda) \\
 &= \sum_{k=0}^{n-1} \mathbf{W}_{m,\lambda}(n-1, k) m^{k+1}(x)_{k,\lambda} (x - k\lambda + k\lambda) \\
 &\quad + \lambda \sum_{k=0}^{n-1} \mathbf{W}_{m,\lambda}(n-1, k) m^k(x)_{k,\lambda} \\
 &= \sum_{k=0}^{n-1} \mathbf{W}_{m,\lambda}(n-1, k) m^{k+1}(x)_{k+1,\lambda} \\
 &\quad + \sum_{k=0}^{n-1} \mathbf{W}_{m,\lambda}(n-1, k) m^k(x)_{k,\lambda} (mk\lambda + \lambda) \\
 &= \sum_{k=1}^n \mathbf{W}_{m,\lambda}(n-1, k-1) m^k(x)_{k,\lambda} \\
 &\quad + \sum_{k=0}^{n-1} \mathbf{W}_{m,\lambda}(n-1, k) m^k(x)_{k,\lambda} (mk\lambda + \lambda) \\
 &= \sum_{k=0}^n \left(\mathbf{W}_{m,\lambda}(n-1, k-1) + (mk\lambda + \lambda) \mathbf{W}_{m,\lambda}(n-1, k) \right) m^k(x)_{k,\lambda}.
 \end{aligned}$$

By comparing the coefficients on both sides of (26), we obtain the following theorem.

Theorem 2.6. For $n, k \geq 1$ with $n \geq k$, we have

$$\mathbf{W}_{m,\lambda}(n, k) = \mathbf{W}_{m,\lambda}(n-1, k-1) + (mk\lambda + \lambda) \mathbf{W}_{m,\lambda}(n-1, k).$$

In Theorem 6, by taking the limit as $\lambda \rightarrow 1$, we note that

$$W_m(n, k) = W_m(n-1, k-1) + (mk+1)W_m(n-1, k).$$

From (10), we note that

$$\begin{aligned}
 (27) \quad & \sum_{k=0}^n \mathbf{V}_{m,\lambda}(n, k) (mx + \lambda)^k = m^n(x)_{n,\lambda} = m(x - (n-1)\lambda) m^{n-1}(x)_{n-1,\lambda} \\
 &= \sum_{k=0}^{n-1} \mathbf{V}_{m,\lambda}(n-1, k) (mx + \lambda)^k (mx + \lambda - \lambda m(n-1) - \lambda) \\
 &= \sum_{k=0}^{n-1} \mathbf{V}_{m,\lambda}(n-1, k) (mx + \lambda)^{k+1}
 \end{aligned}$$

$$\begin{aligned}
 & -\lambda \sum_{k=0}^{n-1} \mathbf{V}_{m,\lambda}(n-1, k)(m(n-1)+1)(mx+\lambda)^k \\
 = & \sum_{k=0}^n \mathbf{V}_{m,\lambda}(n-1, k-1)(mx+\lambda)^k \\
 & -\lambda \sum_{k=0}^{n-1} \mathbf{V}_{m,\lambda}(n-1, k)(m(n-1)+1)(mx+\lambda)^k \\
 = & \sum_{k=0}^n \left(\mathbf{V}_{m,\lambda}(n-1, k-1) - \lambda(m(n-1)+1)\mathbf{V}_{m,\lambda}(n-1, k) \right) (mx+\lambda)^k.
 \end{aligned}$$

Therefore, by comparing the coefficients on both sides of (27), we obtain the following theorem.

Theorem 2.7. *For $n, k \geq 1$ with $n \geq k$, we have*

$$\mathbf{V}_{m,\lambda}(n, k) = \mathbf{V}_{m,\lambda}(n-1, k-1) - \lambda(m(n-1)+1)\mathbf{V}_{m,\lambda}(n-1, k).$$

From Theorem 6, we note that

$$\begin{aligned}
 (28) \quad \sum_{n=k}^{\infty} \mathbf{V}_{m,\lambda}(n, k) \frac{t^n}{n!} &= \frac{1}{\lambda^k m^k} \frac{1}{k!} (\log(1+m\lambda t))^k (1+m\lambda t)^{-\frac{1}{m}} \\
 &= \frac{1}{\lambda^k m^k} \frac{1}{k!} (\log(1+m\lambda t))^k e^{-\frac{1}{m}(\log(1+m\lambda t))} \\
 &= \sum_{l=0}^{\infty} \frac{(-1)^l (\log(1+m\lambda t))^l}{l!} \frac{1}{m^l} \frac{1}{k! \lambda^k m^k} (\log(1+m\lambda t))^k \\
 &= \sum_{l=0}^{\infty} \frac{(-1)^l (k+l)! \lambda^l}{l! k! m^{k+l}} \frac{1}{(k+l)!} \left(\frac{\log(1+m\lambda t)}{\lambda} \right)^{k+l} \\
 &= \sum_{l=0}^{\infty} \binom{k+l}{k} (-1)^l \frac{\lambda^l}{m^{k+l}} \sum_{n=k+l}^{\infty} \mathbf{S}_{1,\lambda}(n, k+l) \frac{m^n t^n}{n!} \\
 &= \sum_{l=k}^{\infty} \binom{l}{k} (-1)^{l-k} \frac{\lambda^{l-k}}{m^l} \sum_{n=l}^{\infty} \mathbf{S}_{1,\lambda}(n, l) \frac{m^n t^n}{n!} \\
 &= \sum_{n=k}^{\infty} \left(\sum_{l=k}^n \binom{l}{k} (-1)^{l-k} m^{n-l} \lambda^{l-k} \mathbf{S}_{1,\lambda}(n, l) \right) \frac{t^n}{n!}.
 \end{aligned}$$

Therefore, by comparing the coefficients on both sides of (28), we obtain the following theorem.

Theorem 2.8. *For $n, k \geq 0$ with $n \geq k$, we have*

$$\mathbf{V}_{m,\lambda}(n, k) = \sum_{l=k}^n \binom{l}{k} (-1)^{l-k} m^{n-l} \lambda^{l-k} \mathbf{S}_{1,\lambda}(n, l).$$

Letting $\lambda \rightarrow 1$ in the identity of Theorem 8, we get

$$V_m(n, k) = \sum_{l=k}^n \binom{l}{k} (-1)^{l-k} S_1(n, l) m^{n-l}.$$

Now, we consider the λ -Tanny-Dowling polynomials given by

$$(29) \quad \mathcal{F}_{m,\lambda}(n, x) = \int_0^\infty \mathbf{D}_{m,\lambda}(n, yx) e^{-y} dy.$$

By (29), we get

$$\begin{aligned} \mathcal{F}_{m,\lambda}(n, x) &= \int_0^\infty \mathbf{D}_{m,\lambda}(n, yx) e^{-y} dy \\ &= \sum_{k=0}^n \mathbf{W}_{m,\lambda}(n, k) x^k \int_0^\infty y^k e^{-y} dy = \sum_{k=0}^n \mathbf{W}_{m,\lambda}(n, k) x^k k!. \end{aligned}$$

By Theorem 2, we get

$$\begin{aligned} (30) \quad \sum_{n=0}^\infty \mathcal{F}_{m,\lambda}(n, x) \frac{t^n}{n!} &= \sum_{n=0}^\infty \int_0^\infty \mathbf{D}_{m,\lambda}(n, yx) e^{-y} dy \frac{t^n}{n!} \\ &= \int_0^\infty e^{-y} \sum_{n=0}^\infty \mathbf{D}_{m,\lambda}(n, yx) \frac{t^n}{n!} dy \\ &= \int_0^\infty e^{-y} e^{\lambda t} e^{\frac{yx}{\lambda m} (e^{\lambda m t} - 1)} dy \\ &= e^{\lambda t} \int_0^\infty e^{-y(1 - \frac{x}{\lambda m} (e^{\lambda m t} - 1))} dy \\ &= e^{\lambda t} \frac{1}{1 - \frac{x}{\lambda m} (e^{\lambda m t} - 1)}, \quad (1 > \frac{x}{\lambda m} (e^{\lambda m t} - 1)). \end{aligned}$$

Therefore, by (30), we obtain the following theorem.

Theorem 2.9. For $m \in \mathbb{N}$, and for all t with $1 > \frac{x}{\lambda m} (e^{\lambda m t} - 1)$, we have

$$e^{\lambda t} \frac{1}{1 - \frac{x}{\lambda m} (e^{\lambda m t} - 1)} = \sum_{n=0}^\infty \mathcal{F}_{m,\lambda}(n, x) \frac{t^n}{n!}.$$

From Theorem 2, we note that

$$\begin{aligned} (31) \quad \sum_{n=0}^\infty \mathbf{D}_{m,\lambda}(n, x) \frac{t^n}{n!} &= e^{\lambda t} e^{\frac{x}{\lambda m} (e^{\lambda m t} - 1)} \\ &= e^{-\frac{x}{m\lambda}} \sum_{k=0}^\infty \frac{x^k e^{\lambda(mk+1)t}}{\lambda^k m^k k!} \\ &= e^{-\frac{x}{m\lambda}} \sum_{k=0}^\infty \frac{x^k}{\lambda^k k! m^k} \sum_{n=0}^\infty \lambda^n (mk+1)^n \frac{t^n}{n!} \\ &= \sum_{n=0}^\infty \left(e^{-\frac{x}{m\lambda}} \lambda^n \sum_{k=0}^\infty \frac{x^k}{k! m^k \lambda^k} (mk+1)^n \right) \frac{t^n}{n!}. \end{aligned}$$

By comparing the coefficients on both sides of (31), we obtain the following theorem.

Theorem 2.10. *For $n \geq 0$, we have*

$$\mathbf{D}_{m,\lambda}(n, x) = e^{-\frac{x}{m\lambda}} \lambda^n \sum_{k=0}^{\infty} \frac{x^k}{k! m^k \lambda^k} (mk + 1)^n.$$

In particular, for $x = 1$, we have

$$\mathbf{D}_{m,\lambda}(n) = e^{-\frac{1}{m\lambda}} \lambda^n \sum_{k=0}^{\infty} \frac{1}{\lambda^k m^k k!} (mk + 1)^n.$$

By (18), we see that

$$(32) \quad \Phi_{n,\lambda}(x) = e^{-\frac{x}{\lambda}} \lambda^n \sum_{k=0}^{\infty} \frac{x^k}{k! \lambda^k} k^n.$$

From Theorem 9 with $m = 1$ and for $n \geq 0$, we have

$$\begin{aligned} \mathbf{D}_{1,\lambda}(n, x) &= e^{-\frac{x}{\lambda}} \lambda^n \sum_{k=0}^{\infty} \frac{x^k}{\lambda^k k!} (k + 1)^n \\ (33) \quad &= e^{-\frac{x}{\lambda}} \lambda^n \sum_{k=1}^{\infty} \frac{x^{k-1}}{\lambda^{k-1} (k-1)!} k^n \\ &= e^{-\frac{x}{\lambda}} \lambda^n \frac{\lambda}{x} \sum_{k=1}^{\infty} \frac{x^k}{\lambda^k k!} k^{n+1} = e^{-\frac{x}{\lambda}} \lambda^n \frac{\lambda}{x} \sum_{k=0}^{\infty} \frac{x^k}{\lambda^k k!} k^{n+1}. \end{aligned}$$

Thus, by (33), we get

$$(34) \quad x \mathbf{D}_{1,\lambda}(n, x) = e^{-\frac{x}{\lambda}} \lambda^{n+1} \sum_{k=0}^{\infty} \frac{x^k}{\lambda^k k!} k^{n+1} = \Phi_{n+1,\lambda}(x).$$

Therefore, by (32) and (34), we obtain the following theorem.

Theorem 2.11. *For $n \geq 0$, we have*

$$x \mathbf{D}_{1,\lambda}(n, x) = \Phi_{n+1,\lambda}(x).$$

By (13), we get

$$\begin{aligned} \sum_{n=k}^{\infty} \mathbf{W}_{m,\lambda}(n, k) \frac{t^n}{n!} &= \frac{1}{\lambda^k k!} \left(\frac{e^{\lambda m t} - 1}{m} \right)^k e^{\lambda t} \\ (35) \quad &= \frac{1}{k! \lambda^k m^k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} e^{(lm+1)\lambda t} \\ &= \frac{1}{k! m^k \lambda^k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \sum_{n=0}^{\infty} (lm + 1)^n \lambda^n \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\frac{\lambda^n}{k! m^k \lambda^k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (lm + 1)^n \right) \frac{t^n}{n!}. \end{aligned}$$

Therefore, by (35), we obtain the following theorem.

Theorem 2.12. For $n, k \geq 0$, we have

$$\frac{\lambda^n}{k!m^k\lambda^k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (lm+1)^n = \begin{cases} \mathbf{W}_{m,\lambda}(n, k), & \text{if } n \geq k, \\ 0, & \text{if } 0 \leq n < k. \end{cases}$$

From Theorems 1 and 11, we have

(36)
$$\frac{\lambda^n}{k!\lambda^k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (l+1)^n = \mathbf{W}_{1,\lambda}(n, k) = \mathbf{S}_{2,\lambda}(n+1, k+1), \quad (n \geq k).$$

By (36), we get

(37)
$$\frac{\lambda^n}{k!\lambda^k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (l+1)^n = \mathbf{S}_{2,\lambda}(n+1, k+1), \quad (n \geq k).$$

Now, we observe that

(38)
$$\begin{aligned} \mathbf{W}_{m,\lambda}(n, k) &= \frac{\lambda^n}{k!m^k\lambda^k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (lm+1)^n \\ &= \frac{\lambda^n}{k!m^k\lambda^k} \sum_{l=0}^k \binom{k}{l} (-1)^l ((k-l)m+1)^n \\ &= \frac{\lambda^n}{k!m^k\lambda^k} \sum_{l=0}^k \binom{k}{l} (-1)^l \sum_{i=0}^n \binom{n}{i} (k-l)^i m^i \\ &= \sum_{i=0}^n \binom{n}{i} m^{i-k} \frac{\lambda^n}{k!\lambda^k} \sum_{l=0}^k \binom{k}{l} (-1)^l (k-l)^i, \quad (n \geq k). \end{aligned}$$

From (9), we note that

(39)
$$\begin{aligned} \sum_{n=k}^{\infty} \mathbf{S}_{2,\lambda}(n, k) \frac{t^n}{n!} &= \frac{1}{\lambda^k k!} (e^{\lambda t} - 1)^k = \frac{1}{\lambda^k k!} \sum_{l=0}^k \binom{k}{l} (-1)^l e^{(k-l)\lambda t} \\ &= \sum_{n=0}^{\infty} \left(\frac{\lambda^n}{\lambda^k k!} \sum_{l=0}^k \binom{k}{l} (-1)^l (k-l)^n \right) \frac{t^n}{n!}. \end{aligned}$$

By comparing the coefficients on both sides of (39), we get

(40)
$$\frac{\lambda^n}{\lambda^k k!} \sum_{l=0}^k \binom{k}{l} (-1)^l (k-l)^n = \begin{cases} \mathbf{S}_{2,\lambda}(n, k), & \text{if } n \geq k, \\ 0, & \text{if } 0 \leq n < k. \end{cases}$$

From (38) and (40), we note that

(41)
$$\begin{aligned} \mathbf{W}_{m,\lambda}(n, k) &= \sum_{i=0}^n \binom{n}{i} m^{i-k} \lambda^{n-i} \frac{\lambda^i}{k!\lambda^k} \sum_{l=0}^k \binom{k}{l} (-1)^l (k-l)^i \\ &= \sum_{i=k}^n \binom{n}{i} m^{i-k} \lambda^{n-i} \mathbf{S}_{2,\lambda}(i, k), \quad (n \geq k \geq 0). \end{aligned}$$

Therefore, by (41), we obtain the following theorem.

Theorem 2.13. For $n, k \geq 0$ with $n \geq k$, we have

$$\mathbf{W}_{m,\lambda}(n, k) = \sum_{i=k}^n \binom{n}{i} m^{i-k} \lambda^{n-i} \mathbf{S}_{2,\lambda}(i, k).$$

Let Δ be the difference operator with $\Delta f(x) = f(x+1) - f(x)$. Then we have

$$\Delta^k f(x) = \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} f(x+l), \quad (k \geq 0).$$

Taking $f(x) = \lambda^n (mx+1)^n$, we have

$$\begin{aligned} (42) \quad \lambda^n \Delta^k (mx+1)^n|_{x=0} &= \lambda^n \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (lm+1)^n \\ &= k! m^k \lambda^k \mathbf{W}_{m,\lambda}(n, k), \quad (n \geq k \geq 0). \end{aligned}$$

Therefore, by (42), we obtain the following theorem.

Theorem 2.14. For $n, k \geq 0$ with $n \geq k$, we have

$$\mathbf{W}_{m,\lambda}(n, k) = \frac{\lambda^n}{k! m^k \lambda^k} \Delta^k (mx+1)^n|_{x=0}.$$

From (13), we note that

$$\begin{aligned} (43) \quad & \sum_{n=k-1}^{\infty} \mathbf{W}_{m,\lambda}(n+1, k) \frac{t^n}{n!} = \frac{d}{dt} \frac{1}{\lambda^k k!} \left(\frac{e^{\lambda m t} - 1}{m} \right)^k e^{\lambda t} \\ &= \frac{\lambda e^{\lambda t}}{\lambda^k k!} \left(\frac{e^{\lambda m t} - 1}{m} \right)^k + \frac{e^{\lambda t}}{k! \lambda^k} k \left(\frac{\lambda m e^{\lambda m t}}{m} \right) \left(\frac{e^{\lambda m t} - 1}{m} \right)^{k-1} \\ &= \sum_{n=k-1}^{\infty} \left(\lambda \mathbf{W}_{m,\lambda}(n, k) + \sum_{i=k-1}^n \binom{n}{i} \mathbf{W}_{m,\lambda}(i, k-1) \lambda^{n-i} m^{n-i} \right) \frac{t^n}{n!}. \end{aligned}$$

Therefore, by (43), we obtain the following theorem.

Theorem 2.15. For $0 \leq k \leq n$, we have

$$\mathbf{W}_{m,\lambda}(n+1, k) = \lambda \mathbf{W}_{m,\lambda}(n, k) + \sum_{i=k-1}^n \binom{n}{i} \mathbf{W}_{m,\lambda}(i, k-1) \lambda^{n-i} m^{n-i}.$$

By (16), we get

$$\begin{aligned}
 \sum_{n=0}^{\infty} \mathbf{D}_{m,\lambda}(n+1) \frac{t^n}{n!} &= \frac{d}{dt} \left(e^{\lambda t} e^{\frac{1}{m\lambda}(e^{\lambda mt}-1)} \right) \\
 &= \lambda e^{\lambda t} e^{\frac{1}{m\lambda}(e^{\lambda mt}-1)} + e^{\lambda t} \frac{\lambda m e^{\lambda mt}}{m\lambda} e^{\frac{1}{m\lambda}(e^{\lambda mt}-1)} \\
 &= \lambda e^{\lambda t} e^{\frac{1}{m\lambda}(e^{\lambda mt}-1)} + e^{\lambda t} e^{\frac{1}{m\lambda}(e^{\lambda mt}-1)} e^{\lambda mt} \\
 (44) \quad &= \lambda \sum_{n=0}^{\infty} \mathbf{D}_{m,\lambda}(n) \frac{t^n}{n!} + \sum_{i=0}^{\infty} \mathbf{D}_{m,\lambda}(i) \frac{t^i}{i!} \sum_{j=0}^{\infty} \frac{\lambda^j m^j}{j!} t^j \\
 &= \lambda \sum_{n=0}^{\infty} \mathbf{D}_{m,\lambda}(n) \frac{t^n}{n!} + \sum_{n=0}^{\infty} \left(\sum_{j=0}^n \binom{n}{j} \mathbf{D}_{m,\lambda}(n-j) \lambda^j m^j \right) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left(\lambda \mathbf{D}_{m,\lambda}(n) + \sum_{j=0}^n \binom{n}{j} \mathbf{D}_{m,\lambda}(n-j) \lambda^j m^j \right) \frac{t^n}{n!}.
 \end{aligned}$$

By comparing the coefficients on both sides of (44), we get

$$\mathbf{D}_{m,\lambda}(n+1) = \lambda \mathbf{D}_{m,\lambda}(n) + \sum_{j=0}^n \binom{n}{j} \mathbf{D}_{m,\lambda}(n-j) \lambda^j m^j, \quad (n \geq 0).$$

From (10), we note that

$$(45) \quad m^n \left(\frac{x-\lambda}{m} \right)_{n,\lambda} = \sum_{k=0}^n \mathbf{V}_{m,\lambda}(n,k) x^k.$$

Thus, by (45), we get

$$\begin{aligned}
 \mathbf{V}_{m,\lambda}(n,0) &= m^n \left(\frac{-\lambda}{m} \right)_{n,\lambda} \\
 (46) \quad &= m^n \left(\frac{-\lambda}{m} \right) \left(\frac{-\lambda}{m} - \lambda \right) \cdots \left(\frac{-\lambda}{m} - (n-1)\lambda \right) \\
 &= (-1)^n \lambda^n (m+1)(2m+1) \cdots ((n-1)m+1).
 \end{aligned}$$

3. CONCLUSION

Studying various degenerate versions of some special numbers and polynomials regained interests of many mathematicians, as we have witnessed in recent years. Explorations for degenerate versions began with the pioneering work of Carlitz on the degenerate Bernoulli polynomials and the degenerate Euler polynomials (see [2]). They have been done by employing such tools as combinatorial methods, generating functions, umbral calculus techniques, p -adic analysis, differential equations, special functions, probability theory, operator theory and analytic number theory.

While, in this paper, we considered λ -analogues of Whitney numbers and Dowling polynomials, namely the λ -Whitney numbers and the λ -Dowling polynomials and derived some properties, generating functions, recurrence relations, and explicit expressions in terms of the λ -analogues of Stirling numbers.

It is one of our future projects to continue to explore various degenerate versions and λ -analogues of many special polynomials and numbers by using aforementioned tools and to find applications to physics, science and engineering as well as to mathematics.

REFERENCES

- [1] Aydin, M. S.; Acikgoz, M.; Araci, S. A new construction on the degenerate Hurwitz-zeta function associated with certain applications. Proc. Jangjeon Math. Soc. 25 (2022), no. 2, 195-203.
- [2] Carlitz, L. Degenerate Stirling, Bernoulli and Eulerian numbers. Utilitas Math. 15 (1979), 51-88.
- [3] Comtet, L. Advanced combinatorics. The art of finite and infinite expansions. Revised and enlarged edition. D. Reidel Publishing Co., Dordrecht, 1974. xi+343 pp. ISBN: 90-277-0441-4
- [4] Dowling, T. A. *A class of geometric lattices based on finite groups*. J. Combinatorial Theory Ser. B **14** (1973), 61-86. Erratum, J. Combin. Theory, Ser. B **15** (1973), 211.
- [5] Kim, D. S.; Kim, H. K.; Kim, T. Some identities on λ -analogues of r -Stirling numbers of the second kind. Eur. J. Pure Appl. Math. 15 (2022), no. 3, 1054-1066.
- [6] Kim, H. K. The α -analogues of r -Whitney Numbers via Normal Ordering. Journal of Advances in Mathematics and Computer Science 37 (2022), no. 10, 33-50, Article no. JAMCS.93148.
- [7] Kim, T.; Kim, D. S. Degenerate Whitney numbers of first and second kind of Dowling lattices. Russ. J. Math. Phys. 29 (2022), no. 3, 358-377.
- [8] Kim, T.; Kim, D. S. Degenerate r -Whitney numbers and degenerate r -Dowling polynomials via boson operators. Adv. in Appl. Math. 140 (2022), Paper No. 102394.
- [9] Kim, T.; Kim, D. S. Some identities on λ -analogues of r -Stirling numbers of the first kind. Filomat 34 (2020), no. 2, 451-460.
- [10] Kim, T.; Kim, D. S.; Kim, H. K. Poisson degenerate central moments related to degenerate Dowling and degenerate r -Dowling polynomials. Appl. Math. Sci. Eng. 30 (2022), no. 1, 583-597.
- [11] Kim, T.; Kim, D. S.; Dolgy, D. V.; Park, J.-W. Degenerate binomial and Poisson random variables associated with degenerate Lah-Bell polynomials. Open Math. 19 (2021), no. 1, 1588-1597.
- [12] Park, J.-W.; Kim, B. M.; Kwon, J. Some identities of the degenerate Bernoulli polynomials of the second kind arising from λ -Sheffer sequences. Proc. Jangjeon Math. Soc. 24 (2021), no. 3, 323-342.
- [13] Roman, S. The umbral calculus. Pure and Applied Mathematics, 111. Academic Press, Inc. [Harcourt Brace Jovanovich, Publishers], New York, 1984. x+193 pp.
- [14] Sharma, S. K.; Khan, W. A.; Araci, S.; Ahmed, S. New type of degenerate Daehee polynomials of the second kind. Adv. Difference Equ. (2020), Paper No. 428.
- [15] Simsek, Y. Identities associated with generalized Stirling type numbers and Eulerian type polynomials. Math. Comput. Appl. 18 (2013), no. 3, 251-263.
- [16] Simsek, Y. Identities and relations related to combinatorial numbers and polynomials. Proc. Jangjeon Math. Soc. 20 (2017), no. 1, 127-135.
- [17] Yun, S. J.; Park, J.-W. On fully degenerate Daehee numbers and polynomials of the second kind. J. Math. (2020), Art. ID 7893498.

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

E-mail address: `tkkim@kw.ac.kr`

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, REPUBLIC OF KOREA

E-mail address: `dskim@sogang.ac.kr`

DEPARTMENT OF MATHEMATICS EDUCATION, DAEGU CATHOLIC UNIVERSITY, GYEONGSAN 38430, REPUBLIC OF KOREA

E-mail address: `hkkim@cu.ac.kr`